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EXERCISE # 1       
  A.    

x 
 

Q.1  4
x

3
x   = 8, x = 12 

 Q.2  (4x + 7) – 2 = 3x + 1, x = – 4 
 

Q.3  4
4x5   – 2

2x3   = 5, x = 2
1   

 Q.4  2x – 4 + 1 = 3x – 6, x = 3 
 

Q.5   : x
6  + 11 = x

3  + 12   
 

Q.6   2x – 8 = 8, x2 + x – 70 
 

 

Q.7  
 

  (i) (3, 3)   (ii) (–3, 2)        (iii) (2, –4) 
   (iv) (–1, –2)   (v) (–5, –5)        (vi) (5, 3).  
 

Q.8  y = x 
(4, 4)   

 

Q.9  x y 
3x + 4y = 6 

(3, 2)   
 

Q.10 y = – 2x 
(2, –5)  

 B.       B.   
Q.11 

 
  (i) (–2, 0)  (ii) (0, 1)  (iii) (–2, –3)  
 

Q.12 
  (i) x = 3  (ii) y = –2. 
 

Q.13 k 
2x – ky = 9  
(–1, –1)   

 

Q.14 x y 
7x – 3y = 15 

y-  
y = – 5  

Q.15 6 – 1.5x = 0  
 

Q.16 x  y 
y = ax + b a  

b 

  
x 1 2 –3 0 5
y 12 19 –16 5 –30  

 

Q.17 A (1, 2), B (–1, –16), C(0, –7) 
y = 9x – 7  

 

Q.18 7x + y = –2 x-

 (2, 1) 
 

 

Q.19 y x 2x – 5y = 7
 (–3, –2) 

 
 

Q.20  x = 2, y = 1  x = 1 
y = 2 2x + y = 5

 
 

Q.21  4x – 5y = 20 
(3, 1)  (5, 0) 

 
 

Q.22  3x + 4y = 14 
x = 1  y = 2 
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Q.23 2y + x = 7 
x = 3  y = 2 

 
Q.24 

x-  
    x – 2y = 1  
    2x + y = 7 
 

Q.25 

y-    
  (i) x + 2y – 7 = 0   (ii) 2x + y = 8 
   2x – y + 1 = 0          x + 1 = 2y 
  (iii) 2x + 3y = 12 
         2y – 1 = x 
 

Q.26 

:   
  (i) x + y = 7   (ii) 2x + 4y = 7 
        2x – 3y = 9    3x + 6y = 10 
  (iii) 2x + 3y – 12 = 0  (iv) 3x – 5y + 4 = 0 
         2x + 3y – 6 = 0   9x = 15y – 12 
  (v) x + 3y = 1   (vi) x + 4y = 7 
         2x + 6y = 2    2x – y = 5 
 

Q.27 
: 

  (i) 7x – 15y = 2   (ii) 2x + 3y = 9 
     x + 2y = 3        4x + 6y = 18 
  (iii) x + 2y = 5   (iv) 0.2x + 0.3y = 1.3 
   2x + 3y = 8    0.4x + 0.5y = 2.3 
  (v) x + 2y = – 1   (vi) 3x – 5y + 1 = 0 
   2x – 3y = 12    x – y + 1 = 0 
 

Q.28 
:  

  (i) 12x + 5y = 17; 7x – y = 6 
  (ii) 17x + 12y = – 2; 15x + 8y = 6 
  (iii) 23x + 17y = 6; 39x – 19y = 58 
  (iv) 43x – 37y = 31; 13x + 23y = – 59 
  (v) 0.4x + 3y = 1.2, 7x – 2y = 6

17   

  (vi) (a + 2b) x + (2a – b) y = 2, 
   (a – 2b) x + (2a + b) y = 3 
  (vii) a(x + y) + b(x – y) = a2 – ab + b2, 
   a(x + y) – b(x – y) = a2 + ab + b2 
 

Q.29 
: 

  (i) 3x – 4y = 7  (ii) 3x – 5y = 1 
         5x + 2y = 3   7x + 2y = 16 
  (iii) 2x + 3y = 8  (iv) 3x  – 4y = 1 
   3x + 2y = 7   4x – 3y = 6 
  (v) 3x – 4y = 10  (vi) 2x – 6y + 10 = 0 
   4x + 3y = 5   3x – 9y + 15 = 0 
  (vii) 1x

2
  + 1y

3
  = 2  

   1x
3
  + 1y

2
  = 6

13 , x 1, y  – 1  

  (viii) yx
5
  – yx

2
  = – 1 

    yx
15
  + yx

7
  = 10; x + y  0, x – y  0 

 

Q.30 k 
 

  (i) 2x + ky = 1  3x – 5y = 7 
  (ii) x – 2y = 3  3x + ky = 1 
  (iii) 2x + 5y = 7  3x – ky = 5  
 

Q.31 k 
. 

  (i) 7x – y = 5  21x – 3y = k 
  (ii) 5x + 2y = k  10x + 4y = 3 
  (iii) kx + 4y = k – 4  16x + ky = k 
 

Q.32 
 

  (i) 3x – (a + 1) y = 2b – 1  5x + (1 – 2a) y = 3b, 
a  b  

  (ii) 2x + 3y = 7  (p + q) x + (2p – q)  
y = 3(p + q + 1) p  q   

  (iii) 2x – (2a + 5) y = 5  (2b + 1) x – 9y = 15, 
a  b 
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Q.33 

  (i) x – 2y = 6   (ii) 2y – x = 9  
   3x – 6y = 0    6y – 3x = 21 
  (iii) 2x – y = 9   
   4x – 2y = 15  
 
 Q.34 k 

 
  (i) 8x + 5y = 9  kx + 10y = 8 
  (ii) x – 4y = 6  3x + ky = 5 
  (iii) kx – 5y = 2  6x + 2y = 7 
  (iv) 4x + 6y = 11  2x + ky = 7  
  (v) 2x + ky = 11  5x – 7y = 5 
 
 

Q.35  
  (i) x2

1  – y
1  = – 1. 

   x
1  + y2

1  = 8, x  0, y  0 

  (ii) x
2  + y3

2  = 6
1 , x

3  + y
2  = 0; x  0 y  0 

a 
y = ax – 4. 

  (iii)  x7
1  + y6

1  = 3,  

    x2
1  – y3

1  = 5; x  0 y  0 

  (iv) x
m  – y

n  = a,      
   px – qy = 0; x  0 y  0   
  (v) y

2  + x
3  = xy

7 ,  

   y
1  + x

9  = xy
11 ; x  0, y  0 

  (vi)  yx
xy
  = 5

6 ,  
    xy

xy
  = 6; xy  0, y  0 

  (vii) x + y = 5xy 
   3x + 2y = 13 xy  
  

Q.36 
 

  (i) 3(a + 3b) = 11 ab, 
   3(2a + b) = 7ab 
  (ii) 5x + y

4  = 9, 
   7x – y

2  = 5; y  0 
  (iii) 3/x + 4y = 7, 
   x

2  + 7y = 3
19  ; x  0  

  (iv) 1x
5
  – 1y

2
  = 2

1  

   )1x(
10
  + )1y(

2
  = 2

5 , x  –1, y  1 

  (v) yx
6
  = yx

7
  + 3, 

   )yx(2
1
  = )yx(3

1
 , x + y  0  x – y  0 

  (vi) ax + by = c, 
   bx + ay = 1 + c 
  (vii) ax + by = 1, 
   bx + ay = 22

2
ba
)ba(


  – 1 

  (viii) x
148  + y

231  = xy
527 ;   

   x
231  + y

148  = xy
610 ; x  0,  y  0 

 

Q.37 2 3   2000 
3 2   2500 
1 5   

 

Q.38 3 4   257 4 
3   324 1  

10  
 

Q.39 4 
192 

Q.40 
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Q.41 4  5 

 
 

Q.42 
110 

10
5 

4 
 

Q.43 
132 

12 
5 

 
 

Q.44 2 1/2 
1 1/3 

 
 

Q.45 18 
2 1/3 

 
 

Q.46 8 cm 
240 

 
 

Q.47 4 cm 
 

400   
 

Q.48 8 
5 

3 
3 2 

74  

  
Q.49 

50º , 
 

 

Q.50 ABCD 
 

 (i) A = 5xº, B = 9xº + 2yº, C = xº + 8yº  
D = xº + 4yº. 

 (ii) A = (2x + y)º, B = 2(x + y)º, C = (3x + 2y)º, 
D = (4x – 2y)º.       

  C.    
Q.51 2 : 3 

65 
 

 

Q.52 1365 

6 15 
  

 

Q.53 1 
1 1/2 

 
 

Q.54 x, x + 12   
x + 27  

Q.55 x   
      3

x
32x17
2x13

18
17x4 

  = 36
16x

12
x7     

 

Q.56 3 6   3900 

2   1300 

  
 

Q.57 (–2, 3)  (2, –2) 

(0, 5)  (4, 0) 

 

Q.58 
 : 

 (i) ax + by = a2    
  bx + ay = b2     
 (ii) a

x2  + b
y  = 2. 
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  a
x – b

y  = 4; a  0, b  0 
 (iii) x – y = a + b  
  ax + by = a2 – b2 
 (iv) a

x  + b
y  = 2, 

  ax – by = a2 – b2; a  0, b  0 
 (v) x + y = a + b 
  ax – by = a2 – b2 
 

Q.59 4 
96  

 

Q.60 3 : 5 
5 

1 : 2  
 

Q.61 3 : 4 
8 

4 : 5 
 

 
  
  
  
 
  
                     ANSWER KEY       
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A. : 
1.   2.    3.   4. 5.   3  6.  2 
7. (i) Ist  (ii) IInd   (iii) IVth  (iv) IIIrd (v) IIIrd (vi) Ist 
9. (i) x = 3

46 y ,   (ii)  
B. : 
11. (i) x-   (ii) y-  (iii)  
12. (i) x = 3 y-  
 (ii) y = –2 x-
13. k = 11   14. (i) x = 7

y315 , (ii) 16. a = 7, b = 5  18. (i) (–2/7, 0) (ii)  

19. (i) y = 5
72 x  (ii)   

20.  x = 2, y = 1  x = 1  y = 2 x = 3, y = – 1  x = 1, y = 3  
21.  (3, 1) (5, 0)   
22.      
23.    
24.  x = 3, y = 1, (1, 0), 


 0,2

7   

25.  (i) x = 1, y = 3, 



2
7,0 , (0, 1)  (ii) x = 3, y = 2, (0, 8), 




2
1,0  (iii) x = 3, y = 2, (0, 4), 




2
1,0   

26. (i)  ( )   (ii)    (iii)    
 (iv) ( )  (v) ( )  
 (vi)  ( ) 
27. (i) x = 29

49 , y = 29
19         (ii) x = 3, y = 1; x = 0, y = 3 .... (iii) x = 1, y = 2   

 (iv) x = 2, y = 3     (v) x = 3, y = – 2   (vi) x = – 2, y = – 1  
 
28. (i) x = 1, y = 1  (ii) x = 2, y = –3    (iii) x = 1, y = – 1 (iv) x = – 1, y = – 2 
 (v) x = 2

1 , y = 3
1  (vi) x = ab10

a2b5  , y = ab10
b10a   (vii) x = a2

b2 , y = a2
ba2 22     

29. (i) x = 1, y = – 1  (ii) x = 2, y = 1  (iii) x = 1, y = 2  (iv) x = 3, y = 2 
 (v) x = 2, y = – 1  (vi)  (vii) x = 3, y = 2  (viii) x = 3, y = 2  
30. (i) k  3

10  (ii) k  – 6 (iii) k  2
15   

31. (i) k = 15 (ii) k = 2
3  (iii) k = 8 

32. (i) a = 8, b = 5   (ii) p = 5, q = 1 (iii) a = –1, b = 2
5   

34. (i) k = 16 (ii) k = – 12 (iii) k = – 15  (iv) k = 3 (v) k = 5
14  
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35. (i) x = 6
1 , y = 4

1  (ii)  x = 6, y = – 4, a = 0  (iii) x = 14
1 , y = 6

1  (iv) x = ap
nqmp  , y = aq

nqmp   

 (v) x = 2, y = 1  (vi) x = 2, y = 3     (vii) x = 2
1 , y = 3

1    
36. (i) a = 1, b = 2

3   (ii) x = 1, y = 1  (iii) x = 71
87 , y = 29

33  (iv) x = 4, y = 5 (v) x = 4
5 , y = – 4

1   
 (vi) x = ba

c
  – 22 ba

b
 , y = ba

c
  + 22 ba

a
  (vii) x = 22 ba

a
 , y = 22 ba

b
     (viii) x = 1, y = 2     

   37.   1700    38.   155    39. 12 16 
40.  = 10  = 40   41. = 10 , = 40  
42. 64  43. 48  44. 10

3   45. 13
5     46.  = 20 cm, = 12cm 

47. 12 cm  16 cm  48.  = 19 m, = 10 m  49. 70º, 20º   
50. (i)A = 50º, B = 120º, C = 130º, D = 70º 
 (ii) A = 70º, B = 80º, C = 110º, D = 100º 
 
C.  : 
51. 13    52. 1635, 270  53. 2/3   54. 47º, 59º, 74º  55. 4 
56.  y

y '
xx ' O 

650 

1300 

3x + 6y = 3900  x + 2y = 1300  

 

   
57.  

1   2   3 4 

5
 4
 3
 2
 1

(0, 5)
y ' 

(–2, 3)

x ' 

y

x 

(2,–2) 

–2  –1
(4, 0)

O –1
–2  

  

58.  (i) x = ba
baba 22


 , y = ba

ab

   (ii) x = 2a, y = – 2b (iii) x = a, y = – b   (iv) x = a, y = b  (v) x = a, y = b 

59. 8  12      
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60. 15  25 
61. 24  32  
 
  
 
  
  
  
 
  EXERCISE # 2       
 
Q.1  40 

5 5 
4 

 
Q.2  5 6   9.00 3 

2   5.00 1 
1    

 
Q.3  2 

360  
 
Q.4  4 

3 18 

 
 
Q.5  4 

18 

 
 
Q.6  4 

6 
12 

 
 
Q.7  80  

5 
2 

10 
5 

50  
 

Q.8  ABC , A = yº, B = (y – 9)º, C = xº 
B – C = 48º 

  
Q.9  

 
 
Q.10 642 

 8 
19  

 
Q.11 

26º 
?   

 

Q.12 
35% 

252 
 

 

Q.13 1400 kg 
100 kg

3/5 
? 

 

Q.14 
68 
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Q.15 59 47   513 , 
47 59   441 

 
 

Q.16 15 

10
3   

 

Q.17 16 

3
1   

Q.18 
   
  1       2 
 (i) 5

3x2   + 4
3x   = 7

1x4   is  (A) 7   

 (ii) 3
19

2
x1x23

1
4

1x7 


   (B) 11
41   

 (iii) 3
)7x2(2

6
5x4   = 2

3 , is  (C) 11
1    

 

Q.19 
   
  1             2 
  (i) 7

1y4
4

3y
5

3y2    (A) 5
8   

  (ii) 3x
7

2x
4

1x
3

 ,  (B) 11
209   

   x 1, 2, 3  
  (iii)  (x + 1) (2x + 1)     (C) 1 
   = (x + 3) (2x + 3) – 14,  
 
Q.20 

15 
 

 

Q.21 2x – 2x–1 = 4, xx    
 

Q.22   2x2 + xy – 3y2 + x + ay – 10   
  = (2x + 3y + b) (x – y – 2), a  b 

   
 

Q.23 A  B 45 
5-5 

124 

A x  ?     

Q.24 64 

 
 

Q.25 k 
: 

   2x – 3y = 7, 
   (k + 1)x + (1 – 2k)y = (5k – 4).    
 

Q.26 k 
  kx – y = 2, 6x – 2y = 3 
  (i) ,  
  (ii)  
  (iii) k 

?  
 

Q.27 
4 

2 
4 4 

 
 

Q.28 A  B 8 : 7 
19 : 16 

 5000 
  

 

Q.29 1000 
256000   
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Q.30  A  B 
160 km A 

B 

8 
2 

 
 

Q.31 8 m2 

5 m  
3 m 

3 m 2 m 
, 74 m2 

  
 

Q.32 

110 km  1130 
200 km  1850 

 
 

Q.33 A  B 70 
km  A 

B 

7 
( )  

1 
 

 

Q.34 
70 

95  
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  ANSWER KEY       

 
1. = 13, = 27   2.  =   1.50, = 0.25 
3. 18  20           4. 35  
5. 24            6. 18

7       
7.  = 40, = 30       8. 82º, 73º, 25º   
9. 120º, 40º, 20º         10. 89, 731  
11. 66º, 22º, 92º          12. 840   
13. 500 kg, 600 kg, 300 kg       14. 30, 38   
15.  =   7.50, 1.50  16. 5  10       
17. 12  4           18.  (i) – (C),   (ii) – (A), (iii) – (B)  
19.  (i) – (B),   (ii) – (A), (iii) – (C)     20.  50   
21.  27            22.  –11  5  
23.  x2 – 45x + 324 = 0 24.  48      25.  k = 5   
26.  (i) k  3, (ii) k = 3, (iii)       27.  96   
28.  A =  24000, B =  21000      29.  628, 372 
30.  A = 50 km/hr., B = 30 km/hr.      31.  19m, 10m  
32.    250,   8        33.  A = 40 kmph, B = 30 kmph 
34.  40 , 15 .  


